8 7 6 5 % 4 3 SH 1/1 REV E WINDCHILL VERSION E3 1
ITEM # PART # QTY DESCRIPTION
1 |oL2910 1 | XFRSW HSB 100A 2P 250V
2 | G074908 4 |SCREW HHTT M5-0.8 X 10 BP
3 077033 6 |LUG SLDLSS 1/0-#14X9/16 AL/CU
CENTER DECAL APPROXIMATELY 4 036933 6 | SCREW PPHM #10-32 X 3/8
e Y @ 5 022152 6 | WASHER LOCK SPRING #10 ZC
USING ASSEMBLY TEMPLATE 6 G074138 1 LUG DIS QK NI-S 10X45 DEG BR/T
7 10000009445 4 |90 DEGREE STRAIGHT SPADE CONNECTOR
8 | 0K0108 1 | ASSY-NEUT BLK 100A
9 |G090388 2 | SCREW HHTT M6-1.0 X 12 ZINC
< — \ ; oa 10 (026902 1 | SCREW HHTT #8-32 X 1/4 CZ
11 | 0KO1120ALOR 1 |ENCLOSURE 100/200A XFER SW_RAW
( ** 12 |0k01130ALOR 1 | COVER 100A XFER SWITCH_INST_RAW
© © ** 13 10000014617 1 | SUBPLATE 100/200A XFER SW
© ** 14 |oGs411 6 | NUT HEX FLANGE WHIZ 1/4-20
/@ ' ** 45 | G022473 4 | WASHER FLAT 1/4-M6 STEEL ZINC
g 16 | 0J8202 1 |LUG SLDLSS 2/0-#14 ALOCU
17 | 026850 2 | WASHER LOCK EXT 1/4 STL
© © A C ~<a— 18 | 085296 1 | SCREW HHC 1/4-20 X 1/2 SS
. l 19 |0A2115 1 | WASHER FLAT NYLON 3/16BS .625 X .062 THK
@ T—=—=om| | A A /% 20 |0E6155 1 | PIN ARM EXTENDER
: ] 21 | 0K8254 1 | U-CLIP ADHESIVE
L] @ ® 22 | 0A9457 1 | DECAL, NEUTRAL
001100 [ 23 |0E3484 1 | DECAL WARN MANUAL OPER HANDLE
06,00 | 24 |0G3274 1 | DECAL LIVE CIRCUIT ENG/FRN/SPN
°¢.°° |25 [on7ara 1 | DECAL NEC COMPLIANCE
odlioo g 26 | 0K1098 1 | DECAL RTS TRANSFER SW GENERAC
by B 27 | 0L1950 1 | DATA DECAL TSWS NON-SE
! 28 | 0K1800 1 | DECAL TEST SEQUENCE 100/200A NON
@ 0 7 29 |10000004183 1 |ASSY SMART AC MODULE
Q © 30 |10000008602 1 | DECAL WCR NEC COMPLIANCE
31 |10000005872 1 |HARNESS 100/200A TS
A ~— C ~— 32 10000037322 1 | DECAL PROP 65 EN/SP/FR

TORQUE ITEM #4
TO 24-30 IN-LBS

bl

SECTION A-A
SCALE 0.600

DRAWING CREATED FROM PRO/ENGINEER
3D FILE. ECO MODIFICATION TO BE
APPLIED TO SOLID MODEL ONLY.

I/

i

Discount
Equipment

TO BE INCLUDED IN MANUAL BAG

@6 SUGGESTED LOCATION OF U-CLIP AND ARM EXT PIN

K e

ITEM #15 ONE MOUNTED UNDER
ONE MOUNTED OF TOP OF
SUBPLATE ITEM #13

4 PLACES

www.discount-equipment.com

*-FRONT DECAL PER MODEL

**-COMPONENTS INCLUDED WITH KIT # 10000014704 LISTED BELOW:

0K01120AL14 - ENCLOSURE 100/200A XFER SW - QTY 1
0K01130AL14 - COVER 100A XFER SWITCH - QTY 1
10000014617 - SUBPLATE, 100/200A XFER SW - QTY 1
0G8411 - NUT HEX FL WHIZ 1/4-20 - QTY 4

022473 - WASHER FLAT 1/4-M6 ZINC - QTY 4

SUGGESTED LOCATION OF DECAL
TO BE INCLUDED IN MANUAL BAG

S

EIN

sEiAL ASS

EVi

SN

EEVANWVINIG

©
©
al
14
o
)@ u
[ SECTION C-C
¥ ]
( .
)
SECTION B-B
SCALE 0.600
PART NUMBER DESCRIPTION ITEM # 26 MODEL # MANUAL WARRANTY
10000008112 ASSEMBLY 100A 120/240 NON SE 0K1098 RXSC100A3 | 10000009569 0K9470
10000008130 ASSEMBLY 100A 120/240 NON SE 0K1274 RXSK100A3 | 10000009532 0K3103
10000008112 ASSEMBLY 100A 120/240 NON SE 0K1272 RXSC100A3S | 10000009569 0K3106
REFERENCE DRAWINGS GENERAL TOLERANCES UNLESS NOTED GENEHAG‘
10000006211 SCHEMATIC/WIRING DIAGRAMS ALLXX =+ 0.4 MM THIRD ANGLE PROJECTION —mmmm
OF6778 CARTON 30'5 X142 X 7'8 XX =L 0AMM TITLE
10000014704 KIT ENCL 100/200A NON SE AL ALLANG =+ 1° G ASSEMBLY DWG 2-POLE
INTERPRET DIM AND TOL
PER ASME Y14.5M-1994 100A 120/240V
SIZE| CAGENO |DWG NO REV
ELECTRONICALLY APPROVED D N/A 1 00000081 20 E
INSIDE WINDCHILL SCALE 0.450 | WT-KG  854430.980 |SHEET 1 of 1

6 |

S

[ 4

2

1




PARTS FINDER

Search Manual Can't Find Part or
Search Website Library For Parts Manual? Request Help
by Part Number Manual & Lookup Part by Manufacturer,
Numbers - Purchase Model & Description

DiS coun t or Request Quote
Equipment

Search Manuals

Discount-Equipment.comis youronline resource for quality parts & equipment.

Florida:561-964-4949 Outside FloridaTOLLFREE:877-690-3101

Need parts?

Click on this link: http://www.discount-equipment.com/category/5443-parts/ and
choose one of the options to help get the right parts and equipment you are looking
for. Please have the machine model and serial number available in order to help us
get you the correct parts. If you don'’t find the part on the website or on one of the
online manuals, please fill out the request form and one of our experienced staff
members will get back to you with a quote for the right part that your machine needs.

We sell worldwide for the brands: Genie, Terex, JLG, MultiQuip, Mikasa, Essick, Whiteman,
Mayco, Toro Stone, Diamond Products, Generac Magnum, Airman, Haulotte, Barreto,
Power Blanket, Nifty Lift, Atlas Copco, Chicago Pneumatic, Allmand, Miller Curber, Skyjack,
Lull, Skytrak, Tsurumi, Husquvarna Target, Stow, Wacker, Sakai, Mi-T-M, Sullair, Basic,
Dynapac, MBW, Weber, Bartell, Bennar Newman, Haulotte, Ditch Runner, Menegotti,
Morrison, Contec, Buddy, Crown, Edco, Wyco, Bomag, Laymor, EZ Trench, Bil-Jax, F.S.
Curtis, Gehl Pavers, Heli, Honda, ICS/PowerGrit, IHI, Partner, Imer, Clipper, MMD, Koshin,
Rice, CH&E, General Equipment ,Amida, Coleman, NAC, Gradall, Square Shooter, Kent,
Stanley, Tamco, Toku, Hatz, Kohler, Robin, Wisconsin, Northrock, Oztec, Toker TK, Rol-Air,
APT, Wylie, Ingersoll Rand / Doosan, Innovatech, Con X, Ammann, Mecalac, Makinex, Smith
Surface Prep,Small Line, Wanco, Yanmar


http://www.discount-equipment.com/category/5443-parts/
http://www.discount-equipment.com/category/5443-parts/
http://www.discount-equipment.com/page/1517-search-manuals/
http://discount-equipment.com/parts/

	Sheet 1
	Views
	new_view_1
	right_3
	left_5
	left_10
	right_11
	new_view_12
	bottom_13





